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D(t+1) = (1 - 8) x D(t)
D(t) = (1 - 8)t x D(0)
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How (t+1) = (1-6)Hpu (1) + 60q,
Hpm(t +1) = (1- ) Hp (1) + p(1-q)
Hyu (t+1) = (1-0)Haw (1) + 6(1- p)q,
and

Hyn(t +1) = (1- ) Hy (1) + 6(1- p)(1-q).



How (t) = (Howm (0) - paX1-6)" + pa,
Hom(t) = (Hpm(0) — p(1-a) X1-6)" + p(1-q),

Haw (1) = (HdM (0) - (1- p)q)(l— 6)" +(1- p)g,
and

Hyn(t) = (Hgn(0) — (1- p)(A1-0) X1-6)" + (1- p)(1-q) .
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Figure 1. Relative value of linkage disequilibrium between the disease variant

and the most adjacent marker allele. D' values for ¢t = 50, 500, and 5000 are
indicated by B, O, and O, respectively.
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Figure 2. Conditional expected power in genome-wide LD testing for the

detection of the disease variant showing a dominant mode of inheritance. (A) £ =
0.16, A =0.16,and /H=0.01. (B) £ =0.09, A=0.09, and %/ =0.01. Powers in the
case of O = 0.2 for £=50, 500, and 5000 are indicated by B, B and L, respectively.
Powers in the case of Q= 0.05 for ¢= 50, 500, and 5000 are indicated by A, A anc
A, respectively. It is assumed that p=0.05and /= S=1000.
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Figure 3. Conditional expected power in genome-wide LD testing for the
detection of the disease variant showing a multiplicative mode of inheritance. (A)
=0.16, A =0.04,and 6 =0.01. (B) £=0.09, A=0.03, and /o =0.01. Powers in
the case of Q=0.2 for ¢=50, 500, and 5000 are indicated by B O and 0,
respectively. Powers in the case of Q= 0.05for t=50, 500, and 5000 are
indicated by A, A and A, respectively. Only cases showing a power higher than
0.01 are shown. Itis assumed that p=0.05and = S=1000.
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